=N =
X n+ %
T %4 W WA i s ML dodE T
i T 3% Mohith RER =T H37-1
b1 ELHERE B 20194F 108 2HFET
ST GEHRR AL S (B L DO 2 B IR L O

- BT B R T, B L%



20160521
四角形


A HL S A R M L s T T AR FE AR N AR E
w A B & 51,097,200 9
T 5 fi #% & 46,452,000 [
4,645,200 [T

{H 2 BiAH 4 %A 4B




% W REEREREEEMIBETS No.
% b i3] = B i 28 &
XIS ¢
| @51 1] K 18,178,132
| EXEE LHE 1] X 2,605,490
0| MR T3 1 = 13,315,224
RN X 34,098,846
Hm gy
I| dEGeE 1] X 1,314,092
| B5EEE 1 =K 5,195,700
— B B 1 = 5,843,582
BiSTE 12,353,374
&t 46,452,220
A RE (T FmES) SHEES 271 e 46,452,000
THE B Y%A 4,645,200
WA (LFEE) 51,097,200




% W REEREREEEMIBETS No. 2
% b i3] 2 Bifg i ) &

A |BETS

Al |EHERR T H 1 K 598,441
A2 |IINEEE T 5 1 = 48,493
A3 |BEEXETEH 1 =X 4,754,192
A4 |NEEE T 5 1 = 5,307,565
Ab |BERETH 1 K 69,402
A6 2=y OOt T 1 K 5,885,220
AT -y 1 K 1,514,819

&t 18,178,132




4 W AR AR S FM AL SOt T3 (GEREN| No.
4 g i L2 ¥ B E<¥iva B & i
R T
1 |EEB L SE T HE

DEAT 3% 1-1)FEIT iR 1 = 98,920
1-2)7E 4] 47l 1 =K 1,905,870
1-3)2 vV My is 1 = 515,760
2) 5 3 B R A 2-1)MVZEIEH 1 K 84,940
a &t 2,605,490




£ W REEFEREERE M LBETIS No.
% E7 i3] = 2  Hf i ) i
I (WS EIS
1 s Bkl T3 1 K 5,898,130
2 |[FeKE G LE 1 K 1,771,550
3 |BEAKEE T 1 =X 3,659,290
4 | TS 1 = 53,444
5 |fiETEHE FEAEMASE | WA AT 1 K 1,246,000
6 | A LE 1 = 686,810
&t 13,315,224




